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Vaz — b2x? bx = a - sint Va?z — b%2x% = a - cost

Vb2x% — a2 bx = a - cosht Vb2x% — a?= a - sinht
Vb2x? + a? bx = a - sinht Vb2x2 + a? = a - cosht
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cosh?x — sinh?x = 1
sinh2x = 2 - sinhx - coshx
cosh2x = cosh®x + sinh?x
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cosh2x+1
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sinh™lx = In(x + VxZ + 1) : x € ]—o0, +0[
cosh™*x = In(x + Vx> —1) : x € [+1, +o[
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Let : x = sinht — dx = cosht - dt
I = [{/1+ (sinht)2cosht - dt
I = [\/(cosht)2cosht - dt

I — fCOSth'dtZ fCOSh2t+1

dt
I=§f(c05h2t+1)-dt
Izl[lsinh2t+t] +C
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Izl[lxz-sinht-cosht+t]+C
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I = %[sinht ~cosht +t] +C - (%)
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x = sinht - t = sinh™x
cosh?t — sinh*t = 1
cosh?t —x? =1 - cosh?t = 1 + x?

cosht = V1 + x2
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I=§[x-V1+x2+sinh_1x]+C
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fﬁ = Zarctan (—) = ——arccot (—)
k2+t k k k k

a1 -1 (E) — .1 -1 (E)
f ey s tanh p + P coth p

dx
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I _f dx _ f dx
2x2+48x+20 27 x2+4x+10
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Let:t =x+4+2 - dt = dx

= f (t)2+(\/_) ; [\/ig arctan (\/ig)] +C

I = —arctan (
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(Ax+B)dx
I, = f
ax?+bx+c
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x43 ~(2x—2)+4
I = dx = | &=4——dx
fxz—Zx—B f x2-2x-8
_ f 2x—2 f dx
- x2-2x— 8 x2-2x-8

=—ln|x —2x—8|+4f

x2-2x+1-9

=—ln|x —ZX—8|+4fm
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f\/tzd_Lkz = +cosh™! (é)

dt . t t
| 7= = +arcsin(;) = —arccos (

(Ax+B)dx
Iy = fm 2l zisetl @

chéw}eﬁ@l.‘.”u"ﬁblljw‘uwﬁﬁ&j)w‘%u M\m
" sbadl 8,831 @ LS LIS

= [—— X3 ey |
X : i D gode Gudas
N T
5
f 5x+3 _ f E(2x+4’)_7
Vx2+4x+10 Vx2+4x+10
[ = Sf (2x+4)dx f dx
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I=2[2Vx2 +4x+10] -7 |

f(x+2)2+(\/—)

=§[2\/m]—7[smh (\/_)] +C

— 52 ¥ 4x + 10 — 7sinh-1 (22
I =5Vx?+4x+1 7sinh (\/g)+C
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sin?x—6sinx+12

Let : y = sinx - dy = cosx - dx
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e*-dx
® =] e

Let:y=e* ->dy=e*-dx
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